
SAP ABAP table TBKCB {House Bank per Currency}

TBKCB

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

WAERS [CUKY (5)]

HBKID [CHAR (5)]

HKTID [CHAR (5)]

T000

MANDT [CLNT (3)] TBKCB-MANDT = T000-MANDT 0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)] TBKCB-BUKRS = T001-BUKRS 0..N

0..N

T012

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

 TBKCB-HBKID = T012-HBKID 
0..N0..N

T012K

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

HKTID [CHAR (5)]

 TBKCB-HKTID = T012K-HKTID 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 TBKCB-WAERS = TCURC-WAERS 

0..N

0..N


